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1. The Arabian Sea branch of the monsoon is much more powerful than the Bay of
Bengal branch because:

 Arabian Sea is larger than the Bay of Bengal.
 Entire Arabian Sea current advances towards India, whereas only a part of the Bay of

Bengal current enters India.
 both (a) and (b)
 None is correct because Bay of Bengal branch is more powerful.

2. Which of the following conditions is/are conducive for the formation of tropical
cyclones?

Large and continuous supply of warm and moist air.1.
Large value of Coriolis force.2.
Inflow of air at upper level of atmosphere.3.

Select the correct answer using the codes given below.

 1 and 2 only
 1 only
 1 and 3 only
 1, 2 and 3

3. Western Ghats run through many states in India. Which of the following is not
among them?

 Andhra Pradesh
 Gujarat
 Kerala
 both (a) and (b)

4. Latitude is the angular distance of a point on earth’s surface measured from the:

 equator
 prime meridian
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 centre of earth
 Poles

5. Ports in Western Europe are ice free while those in Canada at the same latitude
are frozen. This is because:

 Effect of continentality on the Canadian ports due to huge landmass of North America.
 Western Europe is touched by warm Gulf Stream current.
 Many industries in the western coastal Europe increase its temperature.
 Both (a) and (b)
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